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B. Sc. (First Year) Examination, 2022
(Regular/Private Students) (NEP)
(Major-1I/Minor/Elective)
PHYSICS-II
(Mechanics & General Properties of Matter)
(wifrert e aqred & | IOT)
Time Allowed : Three hours
Maximum Marks : 70
Minimum Pass Marks : 25
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Note: Attempt questions of all three sections as
directed. Distribution of marks is given with

sections.
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Section-‘A’

(T u9)

(Objective Type Questions)
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Attempt all questions. Each question carries 2 marks.
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Concept of zero was given by :

(a) Aryabhata
(@ LU
(b) Newton
(c) Hygen Surface tension arises because of :
(d) Thomson (@ Adhesive force
(b) Cohesive force
w Tl F1 A & (c) Electrostatic force
(a) ToFam (d) Frictional force
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In a conservative force field.
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(a) Mechanical encrgy remains conserved

(b) Linear momentum remains conserved

(c) Energy decreases

(d) Angular momentum changes periodically
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The correct Transformations connecting the two

inertial frames are :
(a) Galilean
(b) Lorentz

(c) Newtonian
(d) None of these
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Section-‘B’
(g ST e ) 4x7=28
(Short Answer Type Questions)
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Note: Attempt any four questions. Each question
carries 07 marks.
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State and prove Gauss’s divergence theorem.

3. S AUt GeHl TeEd A T wHe faten 9 w5

EdiEiy
State the prove the theorem of perpedicular axis regarding
moment of inertia.

4. TEcH THERT [ T 7 T A
What is the equation of continuity? Explain it.
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What do you understand by the centrla force? Show

that the total work done in taking the partical in a closed

path by the central force js Zero,
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Section-‘C’
(3rd 97 uv9) 2x16=32
(Long Answer Type Questions)
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Note: Attempt all five questions. Each question
carries 16 marks. Maximum word limit 500

words.
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What is meant by Gradient of a scalar field. Derive its

expression in terms of the operator .
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Y =2n(1+0)

Define elastic constants. Prove that Young’s Modutus Y
modulus of Rigidity | and poisson’s ratio ¢ are related

as .

Y =2n(l+0)
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What is meant by Suface Tension? Explain the Jagger’s
method for it’s determination and derive the necessary

formula used.
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Qbtain expresion for the Gravitational potential and
gravitational field due to a uniform spherical shell at 5
point (i) Inside (ii) on the surface (iii) Outside the shell,
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Describe Michelson-Morley’s experiment. Discuss the
negative result of the Michelson-Morley’s experiment.




